
ⓒさくらぷりんと 
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◆プリント１◆ 

① ２４㎤       ② ２２㎤ 

 

① ３×３×３＝２７     ２７㎤   

 

② ３×６×２＝３６     ３６㎤ 

 

  ５×７×２＝７０       ７０㎤ 

 

 

◆プリント２◆ 

① ３６㎤       ② ３２㎤ 

 

① ４×４×４＝６４     ６４㎤   

 

② ５×６×１０＝３００  ３００㎤ 

 

  ６×７×３＝１２６     １２６㎤ 

 

 

◆プリント３◆ 

① ２４㎤       ② ２２㎤ 

 

① ４×４×４＝６４     ６４㎤   

 

② ４×８×５＝１６０   １６０㎤ 

 

  ８×６×４＝１９２     １９２㎤ 
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◆プリント４◆ 

① ８×５×４＝１６０  ８×１５×６＝７２０ 

  １６０＋７２０＝８８０                ８８０㎤   

 

② ８×５×１０＝４００ ８×（１５－５）×６＝４８０ 

  ４００＋４８０＝８８０                ８８０㎤   

 

③ ８×１５×１０＝１２００ ８×（１５－５）×４＝３２０ 

  １２００－３２０＝８８０               ８８０㎤   

 

２０×２０×１８＝７２００ １０×１２×７＝８４０ 

７２００－８４０＝６３６０               ６３６０㎤ 

 

◆プリント５◆ 

① ６×３×４＝７２  ６×１２×５＝３６０ 

  ７２＋３６０＝４３２                 ４３２㎤   

 

② ６×３×９＝１６２ ６×９×５＝２７０ 

  １６２＋２７０＝４３２                ４３２㎤   

 

③ ６×１２×９＝６４８ ６×（１２－３）×４＝２１６ 

  ６４８－２１６＝４３２                ４３２㎤   

 

（９＋７）×（６＋６＋６）×８＝１６×１８×８ 

                 ＝２３０４ 

  （９×６×８）×２＝８６４ 

  ２３０４－８６４＝１４４０               １４４０㎤ 

 

 〈別解〉 

  ７×（６＋６＋６）×８＝７×１８×８ 

             ＝１００８ 

  ９×６×８＝４３２ 

  １００８＋４３２＝１４４０               １４４０㎤ 
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◆プリント６◆ 

① ２４×１４×９＝３０２４  ８×８×９＝５７６ 

  ３０２４－５７６＝２４４８             ２４４８㎤   

 

 〈別解〉 

  ８×１４×９×２＝２０１６ 

８×（１４－８）×９＝４３２ 

２０１６＋４３２＝２４４８             ２４４８㎤ 

 

② １３×１６×７＝１４５６ 

  ８×６×７＝３３６ 

  １４５６－３３６＝１１２０             １１２０㎤ 

 

 〈別解〉 

  １３×５×７×２＝９１０ 

  （１３－８）×６×７＝２１０ 

  ９１０＋２１０＝１１２０              １１２０㎤ 

 

③ ８×１５×５＝６００ 

  ４×５×３＝６０ 

  ６００＋６０＝６６０                 ６６０㎤ 

 

④ ８×１３×５＝５２０ 

  ８×４×７＝２２４ 

  ５２０＋２２４＝７４４                ７４４㎤ 

 

〈別解１〉 

  ８×４×（７＋５）＝３８４ 

    ８×（１３－４）×５＝３６０ 

    ３８４＋３６０＝７４４                ７４４㎤ 

 

  〈別解２〉 

    ８×１３×（７＋５）＝１２４８ 

    ８×（１３－４）×７＝５０４ 

    １２４８－５０４＝７４４               ７４４㎤ 

算数プリント 
５年生 体積 解式と解答６ 
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◆プリント７◆ 

 ８－２＝６ １７－２＝１５ ９－１＝８ 

 ６×１５×８＝７２０                 ７２０㎤   

 

① ２０×２０×９＝３６００              ３６００㎤ 

 

  ② １２－９＝３ 

    ２０×２０×３＝１２００              １２００㎤ 

 

◆プリント８◆ 

 ７－２＝５ １５－２＝１３ ８－１＝７ 

 ５×１３×７＝４５５                 ４５５㎤   

 

① ３０×３０×１４＝１２６００           １２６００㎤ 

 

  ② ２５×５６＝１４００ 

    １２６００÷１４００＝９                 ９㎝ 
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